
GCSE History Jenga (Weimar) 

Identify 

1. Which month did the Kaiser abdicate? 

2. What was the end of WW1 known as? 

3. Name one uprising against the new 

Weimar Government. 

4. Which agreement led to Germany 

accepting it’s new borders. 

5. How much did Germany have to pay in 

reparations for WW1? 

6. Who was the first President of the new 

Germany? 

7. When was the Wall Street Crash? 

8. When was the Munich Putsch? 

9. What did the invasion of the Ruhr lead to? 

10. What was the new currency of Germany 

in 1924? 

11. Who led the Kapp Putsch? 

12. What was the name of Hitler’s book? 

13. Who led Germany out of economic 

problems in 1924? 

14. Who led the Spartacist rebellion? 

15. What is the name of the German 

government? 

 

Describe 

1. Describe one uprising against the Weimar 

Government. 

2. What is proportional representation and 

how does it work. 

3. Describe the Weimar Constitution. 

4. Describe the Spartacists rebellion. 

5. Describe the Kapp Putsch 

6. Describe the Munich Putsch. 

7. Describe the Stresemann years. 

8. Describe the Locarno Pact. 

9. Describe the Young Plan. 

10. Describe the Dawes Plan.  

11. Describe the economic aspect of the 

Treaty of Versailles. 

12. Describe the Treaty of Versailles. 

13. Describe the Social Democrats. 

14. Describe the idea of National Socialism. 

15. Describe the idea of Communism.  

 

 

Explain 

1. Explain one reason why the 

Nazis were unpopular in the 

1920s. 

2. Explain a consequence of 

the Munich Putsch. 

3. Explain why the Weimar 

Constitution weakened 

Germany. 

4. Explain a cause of hyperinflation. 

5. Explain a consequence of the Dawes Plan. 

6. Explain one reason why Weimar was 

under threat up to the end of 1923. 

7. Explain why Hitler attempted the Munich 

Putsch. 

8. Explain why 1923 was a difficult year for 

Weimar. 

9. Explain why 1924-1929 was successful for 

the Weimar Republic.  

10. Explain why the Wall Street Crash 

weakened Germany.  

11. Explain one reason why Germany had 

recovered by 1924. 

12. Explain one reason why the Treaty of 

Versailles was seen as unfair. 

13. Explain one reason why 1924-1929 was 

not successful for the Weimar Republic.  

14. Explain the improvements to international 

relations by Stresemann. 

15. Explain why Germany had not recovered 

by 1924. 

 

Analyse 

1. How successful was the Weimar Republic? 

2. The main reason for the fall of the 

Weimar Republic was the economic 

depression, which started in 1929, how far 

do you agree? 

3. The Weimar Republic was a failure in the 

years after 1923. How far do you agree 

with this statement? 
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